user 2

public int sum(int a, int b) {

c = a+tb;
return c;

}
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public int method(int a, int b)
{

c = a+tb;
return c;

user 3
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public int method(int a, int b)

this.c = a+b;
return this.c;

B }
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<< yser 2
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Merge
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<< yser 3 \

public int method(int a, int b)

public int sum(int a, int b) {\ {

c = a+tb;
return c;

public int method(int a, int b)

{

this.c = a+b;
return this.c;
>>>>>>>>> user 3

}

R

this.c = a+b;

return this.c;

public int sum(int a, int b) {

c = a+tb;

return c;
>>>>>>>>> user 2
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- C = atb;
-  return c;
- public int method(int a, int b)

-

1 blocks, 4 lines
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public int sum(int a, int b) {
this.c = a+b;
return this.c;

}

- public int method(int a, int b)
-

+ public int sum(int a, int b) {

- public int sum(int a, int b) {
- C = a+b;

-  return c;

2 blocks, 6 lines

Merge user
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